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The mole fraction of the solute in one molal aqueous solution is:
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Mole fraction of acetic acid in an aqueous sample is 0.1. The molality of
the solution is U&U)OH L A H,0 MwA: 1R
(A) 7.16 mol kg (B) 1.67 mol kg

%17 mol kgt (D) 5.25 mol kg
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Which of the following concentration factor is affected by change in
temperature ? -
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The density (in g mL-!) of a 3.60 M sulphuric acid solution that is

29% H,SO, (Molar mass = 98 g mol-1) by mass will be -
[AIEEE 2007

™MW
_ 1
(A) 1.64 Eﬁ

\y/l.zz I

I LAKSHYA KO HAR HAAL ME PAANA HAI



; : 710 N
A sugar syrup of. wefght 214.2 grams contains 34.2 grams of sugar. The
molal concentration is- 2.2 Mg‘owm [I1'T-1988]
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The normality of 0.3 M phosphorous acid (H;PO;)is - [I1'T- 1999]
(A) 0.1 il (B) 0.9 )

(C) 0.3 M=03 a0 0
N=mM xn.-f )
N = 0-3x & O@
N=0-¢ N-f=2
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Increasing the temperature of an aqueous solution will cause -

L/f/ 0 [1IT-1993]

(A) decreasein molalityx ) decrease in molarity

<

(C) decrease in mole fraction (D) decrease in % (w/w)
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